FUEGEM T —F = ) —KEHER

. £ f# REBF7—F ) —EH, mREHT7—F ) —HE
2. £ B ERB7—FzU—937
. =2 i R&BT7OT7)—F 7T—Fz)—15
4. #H B TMSFE3IA5E (B)
A1 : RCEREBF. RCEREXF. RC—&XF. BB—HRBEF
F#% RC—iBF
5. & B RCERFT : €BA7—F = ) —ERBEMRA Tm>H 2k
BBERFT : £BAR7 —F = ) —ERBZMRA 5m> o>k
6. BRIRE BREAER WH W
BHR BB FTIF
DOS EH [ER
il RCERESF
IEfL |33 F 2 B F= | 1080 | X% | BT | #BF
e 5 BEEEFFR 571 10 4 276 | 295
20\ —1% BESFEFR 550 1 0 280 | 270
Al RCERELF
B [EF B g% TR | 105 | X# | 81 | &F
1151 =M FSH L FEFEKR 589 | 11 2 296 | 293
2|+ BE ESHEXFEEFER 581 9 2 301 | 280
S[BRE EH BEEFEFR 555 9 2 284 | 271
4lfpill FOSR ESHEFEFER 488 9 1 257 | 231
SIEAX RE BESFEFR 469 4 1 206 | 263
A RC—AEXF
B [EF B g% TR | 105 | X# | 81 | &F
1#h BX EHET7—Fz V=057 647 | 20 7 322 | 325
2|KPq (i E7—FzV—957 572 9 3 291 | 281
FHil BB—#5F
IEfL |33 F 2 e F= | 1080 | X% | BT | #BF
1% ez Y9RT7—Fz)—9357 595 | 11 3 303 | 292
204H F{Z BERERB7—Fz)—957 555 8 3 266 | 289
3PS #RER BERB7—Fz =057 502 5 3 248 | 254
Altall =8 BRERB7—Fz)—957 468 1 3 251 | 217




F#% RC—EHF
IEfL |33 F 2 e F= | 1080 | X% | AT | #BF
1B K FSEHERE 640 [ 19 5 311 [ 329
20EA HE FELE R 637 [ 21 5 320 | 317
3|IE R FSHERE 619 [ 12 0 303 [ 316
41t A5 BRB7—Fz =957 614 | 14 5 310 | 304
Sjlisp 8B A E7—FzV—957 607 12 4 295 | 312
6[IUA ER BRB7—Fz =957 603 | 10 3 300 | 303
A R ASHERE 600 9 2 312 | 288
8|HLLE IFf ESiE KF0B0GY T T 595 8 2 291 | 304
I RMA = ASEHERFE 592 | 14 5 296 [ 296
10[5% 5 ESHERE 581 11 6 281 | 300
11|$RE F— BERB7—Fz =057 566 | 10 6 279 | 281
12|#E Rl BRB7—Fz =057 522 7 3 252 | 210
BEX T E7—Fz V=957 520 5 0 262 | 258
14T #/E E7—Fz)—937 466 1 0 220 | 246
15[B)I & BERB7—Fz =057 448 4 1 236 | 212




